Answers

1) a) There are 10 squares shaded out of 100.
There is | row shaded out of 10.
The shaded area represents ,’,,—00 or ,L,, .
b) There are 3S squares shaded out of 100.
The shaded area represents ,3,,—%.
2) The number square should have any 70 squares shaded. The circled fractions should be ,3,—3, and ,l,,.
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1) Greg is incorrect as even though it looks like two columns of 10 and one row of 10 are shaded, which makes
a total of 30, some of the individual squares appear in both the row and the columns so have been counted
twlce If you count the squares individually, there is actually only 28 shaded so this image represents 25 ,00
not 2y ,,,,,
2) The whole part has & (53). If you subtract the & (23) from the L, you're left with
Therefore, S is missing digit in the 555 fraction. To calculate the missing digit from 35, | can
see that there are ,,,0, which means the missing digit must be .
2
3) Neither has more as they both have the same. Sixty eight hundredths written as a fraction too
63
is 2. Eight hundredths as a fraction is written as 15; and six tenths written as a fraction 100
is & , which is the same as pg. If you recombine, then 155 + ,fo foﬁ
1) Here are 10 possible answers: @
Z and 1 , 3 and 15 , 55 and ;. , 55 and 15 , 105 and 135 , 1o and 1a;. , 15 and 155 , 1o; and 105 ~—
10 100 » I0 100 > 100 100 » ’00 100 » '00 100 » 100 100 » 100 100 > I00 100 »
loo 35 and 155 700 > loo 5 and 15 T00
2 . . .
) Craig My fraction has five tenths. ,oﬂo
- 59
Lois My fraction is greater than %. 100
Ted My fraction has fifty four hundredths. 'so_z
. . s . 5 5 35S
Raj My fraction can be partitioned into 75 and 155 - 100
, . . . 26 3 s6
Gina My fraction can be partitioned into 755 and 1g. 100
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